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Practice 6-1

Rate of Change and Slope
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Find the slope of each line.
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Find the slope of the line that passes through each pair of points.

7. (1,2),(4,3) 8. (7.2),(3,5)
10. (-2,5),(3, —4) 11. (2,4),(6.7)
13. (=3, -2), (4, ~2) 14. (4,~2),(4,9)
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9. (0,2),(4,6)
12. (=2, -5),(4,5)
15. (5,2), (8, —4)

Find the rate of change. Explain what the rate of change means for each situation.

16. Points Scored 17. Distance Sound
for 3-point Baskets Travels in Air
A ~ 14
-2l L1
518 E0
a5 y 8
ainz g 6
5 ) .8 4
~ 6 Q3
3 0
0 10 20 30 40 50 60 70
1234567 Time (seconds)
Number of Baskets
Find the slope of the line that passes through each pair of points.
19. (0,0),(3,7) 20. (—2,4),(4,-1)
22' (2! 4)1 (47 _4) 23' (21 """10), (51 _6)
25' (31 7)7 (3v 5) 26' (7= 9): (2, 9)

18. Speed

112

- %

g:": 80

~ 64
48

w 32

16

0

1234567
Time (seconds)

21. (-3,6). (L, -2)
24. (5,1), (11, 1)
27. (-5,-2),(~5,3)

Algebra 1 Chapter 6

Lesson 6-1 Practice “




Name Class Date

PraCtice 6"2 Slope-Intercept Form

Find the slope and y-intercept of each equation. Then graph.

1. y=x+72 2.y+3=—%x J.y=2x—-1 4.yw%.\:=—1
5. y=ix—4 6. y— 2= —3 7.y=%x+3 8.y +ir=-2
9. y=—-x—-2 10. y — 6 = —2x 11, y= —5x -2 12. y +x =0
13. y+4=2x 4. y= -5x +5 15, y = -4 + x 16. y = —4x
17. y = %x +2 18. y - %x = —5 19. y = -6 200 y — 3 = —%x
21. y=~Ix + 6 22. y+3r=6 23. y + tx = =2 24. y = 3x
Write an equation of a line with the given slope and y-intercept.
25. m=4,b = 26. m=—-2b= -6 27. m=%,bm(}
28. m = —%,b: -7 29. m= ~6,b=1 30. m = % = —1
3. m=—1b= -3 32. m=9,b=4 33.m= -85 =11
34. m=2b=0 © 35.m=-11,b=13 36.m=—2b=—6
Write the slope-intercept form of the equation for each line.
. 38. 39.
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43. A television production company charges a basic fee of $4000 and then
$2000 per hour when filming a commercial.

a. Write an equation in slope-intercept form relating the basic fee
and per-hour charge.

b. Graph your equation.

¢. Use your graph to find the production costs if 4 hours of filming
were needed.

Lesson 6-2 Practice Algebra 1 Chapter 6
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PraCtice 6-3 Standard Form
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Graph each equation using x- and y-intercepts.

1l.x+y=3 2. x +3y=-3 3. 2x+3y=6 4. 5x — 4y = 20
5. 3x + 4y =12 6. 7x + 3y = 21 7. y=-25 8. 2x -3y =4

9. x=3 10. 3x — 2y = ~6 1. 5x + 2y =5 12. —Tx +2y =14
13. 3x +y =3 14. —3x + 5y =15 15. 2x + y =3 16. 8x — 3y = 24
17. 3x — 5y = 15 18, x + 4y = 4 19. x = ~3.5 20, y =46

Write each equation in standard form using integers.

21, y =4x — 11 22, y=2x~ 6 23. y=-2x -3 24. y = 5x — 32
25.y=%—x—23—5 26. y =43 — 4x 27.ym—%x+~g— 28.y=—%
29. y=3x -2 30. y=Lx+ 2 3. y=-$+2 32. y = —6x — 38

33. The drama club sells 200 Ib of fruit to raise money. The fruit is sold in
5-Ib bags and 1(-1b bags.

a. ‘Write an equation to find the number of each type of bag that the
club should sell.

b. Graph your equation.
€. Use your graph to find two different combinations of types of bags.

34. The student council is sponsoring a carnival to raise money. Tickets cost
$5 for adults and $3 for students, The student council wants to raise $450.

a. Write an equation to find the number of each type of ticket they
should sell.

b. Graph your equation.

€. Use your graph to find two different combinations of tickets sold.

35. Anna goes to a store to buy $70.worth.of fiour and sugar for her
bakery. A bag of flour costs $5, and a bag of sugar costs $7.

a. Write an equation to find the number of bags of each type Anna
can buy.

b. Graph your equation.

36. You have $50 to spend on cold cuts for a party. Ham costs $5.99/Ib, and
turkey costs $4.99/1b. Write an equation in standard form to relate the
number of pounds of each kind of meat you could buy.
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Point-Slope Form and Writing Linear Equations

Practice 6-4
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Write an equation in poini-slope form for the line through the given poinis
or through the given point with the given slope.

1. (5,7),(6,8) 2. (-2,3)ym = -1 3. (1,2),(3,8) 4, (-2,3zm =4
5. (4,7);m =% 6. (6,—2)m = —% 7. (0,5),(-3,2) 8. (8,11), (6, 16)
9. (4,2),(—4, ~2) 10. (15,16), (13, 10) 11. (0, =7);m = —4 12. (—3,4),(1,6)
13. (1,2);m undefined 14, (=6,7)im = -+  15. (21,-2),(27.2) 16. (7,5)m = 0
17. (8,-2),(14,1) 18. (4,8),(2,12) 19. (—5,13),(~10,9) 20. (6,2);m =%
21. (5,-3)m= -2  22. (4,35):m =05 23. (~6,2)m =3 24. (100,90), (80, 120)
25, (-3,6),(3,—-6) 26. (11,7),(9,3) 27. (2,7xm =% 28. (—-9,8);m = ...%
Is the relationship shown by the data linear? If it is, model the data
with an equation.
29. X y 30. X oy 31. X y 32. X y
2 3 -3 4 -4 12 -2 5
3 7 -1 6 -1 8 3 -5
4 11 1 7 5 —4 7 —13
5 15 3 10 10 —8 11 -21
33. b'¢ y 34. X y 35. X y 36. X y
—6 -5 -6 11 =17 —3 -4
-2 —3 9 -5 0 2 4
0 4 6 3 -1 6
8 16 15 ~3 3 7 14 10

Write an equation of each line in point-slope form.
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Practice 6-5 Parallel and Perpendicular Lines

Find the slope of a line parallel to the graph of each equation.
1

1. y=4x 4+ 2 2.y=%x+1 3. y=-9r~-13 4.y=—§x+1
5. 6x + 2y = 4 6. y—3=0 7. —5x +3y=4 8, Ox — 5y =4
9. ~x+3y=6 10. 6x — 7y = 10 1. x= -4 12. -3x -5y =6
Write an equation for the line that is perpendicnlar to the given Hne and that
passes through the given point.
13, (6,4):y =3x~2 14. (=5,5);y = —5¢ + 9 15. (=1, —4)y = £x + 1
16. (L1)iy=—4x+7 17. (12, —6);y = 4¢ + 1 18. (0, 3%y = —3x - 7
19. \ . ¥ 20. _ ¥y 21. _ ¥
\; 7 2
63 TI 0 X
1 " ¥
| X 3 /1 =12 ¥ ] 4
312 10 b h ’i/ 7.
N Of |x ”
. —deh | -
- \\ ),/ T &3
Write an equation for the line that is parallel to the given line and that
passes through the given point.
22, 3,4y =2x -7 23, (1,3);y = ~4x + 5 24, (4, -1y =x -3
25. (40)y =3¢ + 9 26. (-8, —4)y = ~3x 5 27. (9, -7);=Tx — 3y = 3
28. R 29. T 30. 17
0 X - e
——] N N o x
1 'J E -
2 2 II = + L
; Toll = =
- —3—b—i ] T,
J 3
Tt
Tell whether the lines for each pair of equations are parallel, perpendicular,
or neither,
31, y =3¢ — 8 32. 3x + 2y = -5 33y = —3r + 11
x—y=-1 y=%x+6 =Sxr+ 2y =720
34, 9x+ 3y =6 35. y=-4 36, x =10
Jx+9y =46 y =4 y = -2
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Pra Ctice 6-6 Scatter Plots and Equations of Lines
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Decide whether the data in each scatter plot follow a linear pattern. If they
do, find the equation of a trend line.

1. ¥ ?L 2. Ty 3. TIy
7 ERET @
2f] L&Y jyiay
ot S oot
H] 3 T ¢ 56
o[ 7 3 py 66
ST [0 T )i 9
'K O] x o FUTol x
—4—h5—1— P r 450 —=FT—p—p—4—3—P—1 ,
1 1
Use a graphing calculator to find the equation of the line of best fit for the
following data. Find the value of the correlation coefficient r and determine
if there is a strong correlation between the data.
4, X y 5. X y 6. X y 7. X y
1 7 1 6 1 ] 12 28
2 5 2 15 4 8 15 50
3 -1 3 -5 ] 3 18 14
4 3 4 1 13 10 21 28
5 =5 5 -2 19 13 24 36
Draw a scatter plot. Write the equation of the trend line.
8 |x |y 9, U.5. Union 0. | x| ¥y 11. u.s.
Year | Membership | 18 Year {Unemployment
1 17 : (millions) Rate (%)
2 2|20
2 |20 1988 17.00 1988 55
3 |22 3| 24
1989 16.96 1989 53
2 4 1 30
S 1990 16.74 1990 56
5 28 5 | 28
1991 16.57 1991 6.8
6 3] .6 33
1992 16.39 1992 7.5
1993 16.60 1993 6.9
1994 16.75 1994 6.1
1995 16.36 1995 5.6
1996 16.27 1996 5.4
1997 16.11 1957 4.9
1998 16.21 1998 4.5
Source: World Almanac Source: World Almanac
2000, p. 154, 2000, p. 145.
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Practice 6-7

Graphing Absolute Value Equations
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Graph each equation by translating y = |x|.

1. y=|x] -3 2.y = |x| +4
4.y=fx|+% 5.y=i_t|+2%

7. y = |x + 2] 8. y=|x— 4

10. y=[x+3| -2 Moy=|x-2|+1
Graph each equation by translating y = —|x]|.

13 y= —Jx] +1 14, y = —|x + 2|

i6. y= —~|x—4| +2 17. y = —|x - 5|

19, y= —|x - 3] +1 20 y=—|x+ 1| +3

Write an equation for each translation of y = |x].
22, left 7 units 23. right 5 units
25. up 2 units, right 3 units 26. down 3 units, left 1 unit

28. left 2 units, up 4 units 29. right 3 units, up 2 units

Write an equation for each translation of y = —|x|.

31. 3 units up 32. 3.5 units left

34. down 3 units 35. up 2 units, right 1 unit
37. right 3 units, up 2 units 38. down 4 units, left 2 units

Write an equation for the given graphs.

3

6.

15.
18.
21,

24,
27.
30.

33.
36.
39,

Ly =lx] -1
y='_t|+3
.y = |3x]

.y={x-3|+2

y=~=lx| =5
y=-|x| +45

y=—-lx+2/ -4

up 6 units
down 1 unit, right 2 units

left 4 units, down 3.5 units

% unit down
down 5 units, left 1 unit

up 4 units, right 3 units

40, v 11. y
\l/ i
X X
- 8] ) \
2 -2
AR
42, Fy 43, [y
X X
O 4 o
¥ -2
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ReteaChing 6-1 Rate of Change and Slope )

OBJECTIVE: Calculating the slope of a line MATERIALS: Nene

Calculate the slope of the line shown in the graph.

a. Pick any two points on the line. Write their coordinates. Underline T 1A
the x-coordinates and circle the y-coordinates. This example uses (Q,@),

2.@).

b. The difference of y-coordinates shows the vertical change or rise. Find
the rise of the line by subtracting the y-coordinates.
verlical change = rise = 4 — 0 = 4 D Y

M L A N

4

el g

¢. The difference of x-coordinates shows the horizontal change or run.
Find the run of the line by subtracting the x-coordinates. Be sure to
subtract the x-coordinates in the same order as the y-coordinates.
horizontal change = run = 2 -~ (} = 2

d. Find the slope of the line through the two points by forming the ratio of

rise to rum.
rise _ 4 )
slope = Tfun = 3 or2

Use steps a-d from the example to find the slope of each line.

B

[

1. 17 2. 17 3. . 7 ;
3 4 4 8

’ T g

T " o \ =

Q * : : \ G

324 | 12 o] | ‘o x =

1 p [

o —a—p—2-f | I =2-1 | 12 N4 8

A 1 \ g

i

g

4. Draw a horizontal line. Find the slope of the line. [ 2
@

©

5. Draw a vertical line. Find the slope of the line.
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ReteaCh i n g 6-2 Slope-Intercept Form
OBJECTIVE: Using the slope and y-intercept to MATERIALS: Graph paper, counters, len index
draw graphs and write equations cards

Write these numbers on the index cards, one number to a card: 1, ~1,2, -2, %

—1,3,-3,1, —1 These numbers represent different slopes.

1 jj _3
* Draw a coordinate plane on the graph paper. e Use the y-intercept shown by the counter and the
) . slope shown on the card to write the equation of
e Put a counter at any integer on the y-axis. a line

Choose one of the index cards.
= Draw the graph of that line.

Place the counter at —4. Choose the index card with the number 2.

y=mx +b ~—  Write the slope-intercept form of the equation of a straight line. The counter
shows that 5 = —4. The first card gives a slope of 2,50 m = 2.
y=2x -+ (—4) ~— Substitute the values shown by the counter and the eard.
- y=2x—4 ~—  Write the equation of the line in simplified form.
vertical change
¥ 7 ~— Slope = Fmﬁ"gé“’ s0 rewrite 2 as % Starting at the counter, move
e x 2 units up and 1 unit to the right and place a second counter. Draw a straight
-—Z.—ll 1/ 3 line joining the two points for the graph of y = 2x — 4,
2
3
_Exercises

Place the counter. Then choose an index card.

1. Write the equation of the line. 2. Draw the graph.

Write an equation for each line.

3. y 4. 7 5. 7

Q5]
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o [x O/ <

I
|
o
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=
L
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Reteaching 6-3

Standard Form

OBJECTIVE: Graphing equations using x- and
y-interceplts

MATERIALS: Small self-stick removable notes

Graph 4x + 5y = 20 using x- and y-intercepts.

a. Write the equation in large figures so that each term is slightly smaller

than a self-stick note.

b. Write a zero on a self-stick note.

¢. Place the note over the 4x. Solve the remaining equation.

0+ 5y =20
5y =20
y =4

This gives us the point of the y-intercept: (0, 4).

d. Place the note over the 5y. Solve the remaining equation.

dy +0 = 20
4y = 20
x =15

This gives us the point of the x-intercept: (5, 0).

e. Graph the two points. Draw the line between them.

A \5.1

(AN

N N

T 0 \ X
EREEERER N

L \\
~Exercises.

Graph each equation using steps a—e.
1. 3x 4+ 4y = 36 2. 5x+3y=15
4. 4x -3y =9 5. 10x + 30y = 90

© Pearson Education, Inc. All rights reserved.

3. 7x — 4y =28
6. 6x -+ 3y = 12
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ReteaChing 6—4 Point-Slope Form and Writing Linear Equations

OBJECTIVE: Writing an equation given the graph MATERIALS: Graph paper
of a line or two points on a line

Write an equation for the line shown in point-slope form.

a. Select any two points on the line. It is a good idea to select points
whose coordinates are integers,
{0, 2) and (1, 4} lie on the line.

rise

b. Use slope = i to find the slope.
From (0, 2), move up 2 units (rise = +2) and right 1 unit (run = +1) to

U &= Un O~

get to (1, 4). So, fke = i—% =12 _/
or
_ .VZ - -Vl : O X
Use m = ¥, = to find the slope. T T
I

If (xp, ;) = (0,2) and (x,,y,) = (1,4), thenm = 3=} =2 =2

€. . Use the point-slope form to write the equation.

Substitute m = 2 and (x;,y;) = (0,2). or Substitute m = 2 and (x1, y;} = (1,4).
y =y =mx - x) Yy =y =m{x — x)

y—2 =2x-0) y—4 =2x-1)

y—-2 =Xk

Note: If you rewrite y — 2 = 2randy — 4 = 2(x — 1) in slope-intercept form, you get y = 2x + 2.
Although the two equations look different, they do represent the same line.

“Exercises;

Graph the line through the given points. Then follow steps a—c from the
Example to write the equation of the line passing through the givea points in
point-slope form.

1. (6,4), (4,3) 2. (0, -18), (5,2) 3. (=2, ~2),(—4,2) 4. (=4,5),(2,5)
Write an equation for the line through the given points in point-slope form.

5. (2,-5),(0, =7) 6. (4,3),(3, —2) 7. (2,-1),(~1,8)

8. (—3,4),(3,8) 9. (4,-1),(~8,2) 10. (5, —2), (=4, —2)

1. (~2, ~6), (8, 4) 12. (-4,1),(-2,2) 13. (6, —6), (3, —12)
14. (0,0), (8,7) 15. (0, —2), (8, —6) 16. (2,7), (=6, —5)

17. (=1, -10),(5,2) 18. (0,7),(-5,12) 19. (0,1), (4, ~7)

.----.....--.--.l-llln..l...!-.-l.-lIl.llIl...l..l.ll.l...l.t.lt.l.ll'.llllllm
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Reteaching 6-5

Parallel and Perpendicular Lines
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OBJECTIVE: Writing equations for parallel and

perpendicular lines
or cotfee stirrers

MATERIALS: Graph paper and two items that can
be used to represent lines such as pencils, straws,

Write an equation for the line that is parallel to y = 3x, and contains

(0, —2). Then, write an equation for the line that is perpendicular to y = 3x

and contains (0, —2).

Place a second pencil on the grid
so that it is parallel to the first
pencil. Notice that you can move
your second pencil to many
other places on the grid and still
have it parallel to your first
pencil. Now, place your second
pencil so that it contains (0, —2),
lkeeping it parallel to your first
pencil. You have only one
correct placement. Count units
to verify that the slope of the
line represented by your second
pencil is also % or 3. This line has
slope m = 3 and y-intercept

b = —2, 8o, its equation is
y=3x -2

On a piece of graph paper, draw
a grid like the one shown below.
Comparing y = 3xto

y = mx + b, we see that the line
has y-intercept 0 and its slope
isdor % This means that the
graph contains (0, 0) and a point
3 units up and 1 unit right from
there, (1, 3). Place a pencil or
other object on the grid that
joins the points (0, 0) and (1, 3).

oS VIR N
_ N
bW
=
P,

|
|
1
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i
=
[

I
B

<
[

|7
®

Follow the steps above to find an equation of the line parallel to the given
line that contains the given y-intercept. Then find an equation of the line
perpendicular to the given line that contains the given y-intercept.

1. y = 35x(0,—-1) 2. y= -3x(0,4)

5.y = %—x + 2;(0, —1)

B. y = %x + 1;(0,-2)

4.y = -tx - 2002

7. y = -3x — 1;(0,2)

9.y

Leaving your first pencil in place,
move the second pencil so that it
is perpendicular to the first. Now,
place your second pencil so that
it contains (0, —2), keeping it
perpendicular to the first pencil.
You have only one correct
placement. Count units to verify
that the slope of the line
represented by your second
pencil is —%. Recall that the
product of the slopes of
perpendicular lines is —1, 50
3(—%) = —1.This line has slope

m = —% and y-intercept b = —2.
So, its equation is y = -%x -2,
3 Y

2
1 / X
0P~ flel I B
~AL LN
71
Y I8
y = —%—x -2 y=3

3. y=2x + 1;(0,-3)
6.y = —3%(0,2)

3x — 4; (0, 6)

Algebra 1 Chapter 6
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Class Date

Name

ReteaChing 6-6 Scatter Plots and Equations of Lines

OBIJECTIVE: Finding the equation of a trend line MATERIALS: None

Rise in Minimum Wage

Example.
Year | Minimum Wage

Find an equation of a reasonable trend line for the data. 1950 $.75
a. Graph the points and draw a trend line. Let 0 correspond to 1950. 1963 $1.25
Rise in Minimum Wage 1975 $2.10

I

o s [ 1980 $3.10

B 7 4 1991 $4.25

E=Z 3 1996 $4.75

(=

_'5 =, 1997 $5.15

=Ry = P Source: World Almanac
0 2001, p. 150.
0 5 1015 20 25 30 35 40 45 50

Year
b. Pick any two points that appear to lie on the trend line, for example, (30, 3) and (50, 5).
€. On a new grid, graph the two points you selected. Draw the line through these two points.
Rise in Minimum Wage

Yy

Minimum Wage
(dellars)
O a N WA G

X

0 5 10 15 20 25 30 35 40 45 50
Year

d. Find the slope of the trend line.
numberof unitsup ~_ rjge _ 2 1

number of units across _ Tul 20 - 10
€. Make substitutions to obtain the equation of the line using either (30, 3) or (50, 2) as (x1, x))-

slope —

y =y =mlx —x) ~— Use poiiit-slope form.
y—3= %(1 — 30)  —~— Substituie llﬂ for m, 3 for y, and 30 for x.

The equation y — 3 = %(.r — 30) models the rise in minimum wage.

Exercises:

Find an equation of a reasonable trend line for each scatter plot.

1. 2. ve 3.
5] S LU 30—% A B 3

10 el 20f" 2
» N 10 1 o ..C- hd
100 200 0 2 4 0 10 20
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Name Class Date

REtea ChEﬂg 6-7 Graphing Absolute Value Equations
OBJECTIVE: To translate an absolute value MATERIALS: None
equation

An absolute value equation has a graph that looks like a V and it points
either upward or downward.

A translation shifts a graph from its home position horizontally (left or
right), vertically (up or down), or in some cases both. Translating a graph
does not change its shape, but moves it to a different position.

Graphy = |x| + L.
Start with the graph of y = | x}.

Remember this is a V-shaped graph pointing upward with its vertex
at the origin.

The + 1 tells us that the the graph will be shifted up 1 unit. "
If the equation were y = {x| — 1, then the graph would be shifted
down 1 unit. 4

You could also make a table of values.

y=|x[+1 p
X y Substitute values for x -2 |0 2
—2 3 and then plot the points. )
-1 2
0 1
2
2 3
Remember that an equation in the form y = |x + 4] would be shifted
horizontally. The shift would be the opposite of the sign inside the absolute
value symbols.
For example,y = |x — 3| would shift to the right (positive direction) 3 units.
y = |x + 3| would shift to the left {(negative direction) 3 units.
In which direction would each absolute value equation shift and by how
many units?
1. y= |x| + 12 2. y=|x|—15 3. y=|x+ 13| 4. y=|x - 15|
Graph each absolute value equation.
5. y=|x]+1 6. y=|x| -2 7.y = {x — 3| 8.y =[x+ 3|
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Chapter 6 Answers

Practice 6-1

3

3 -2 3 g4
1.3 2-2 3.-5 4.3 5.5 6.3

4

1l
7.3

3
i

g.1

10. -2 11.3 12.% 13.0 14. undefined 15. —2

3 4

16. 3; point score increases by 3 for each 3-point basket,

1
17.5

sound travels 1 mi for each 3 5.

18, —16; the speed decreases 16 ft/s every second. 19. %

20.—% 21, =2 22. -4 23.§ 24.0 25. undefined

26.0 27. undefined

Practice 6-2

1. 1;2 -5 =3
1Y 1)
T A
3 TS <
/ —§—1—]"
13 O X T
m[' -, 3
5 AT
EA =
. 3 _
3.2:-1 4, 5 1
1Y 1y
=) o
EA 4 A
0 X P
I d 9 B i X
/ -4 (o 4 [ &
,‘-‘/4
L _ .
5.5 —4 6.2: 3
1 y e 1
T o ES :’.
—b—p—1, i) o X
13
R —5——] i)
Z I T
3 :;
w - 4

Algebra 1 Chapter 6
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2. _1
.53 8. —3;—2
y i )-’
0 0
o _a_ )
A ‘dr [ .
T L
P X -
~3 |—-4 |0 4 i
T
9, 12 10. -2;6
5 Nty
T <
i 5
%+
3 2
o o)
M. -5,-2 12. ~-1:0
17 Ry
- J
b 2
\lo x 9]
—37 1\ i }
3 \ 3
13.2; -4 14, —5;5
P Y
. \
|0 x \
= 4% A
L A
- —3——| |0
F Z
+
15, 1; —4 16. —4:0
1Y LI ¥
T 0 ?
—i—{, X =
N 9]
- =321
F =
4
&

Answers




Chapter 6 Answers (continued)

4 3 _ 3.
17.3:2 18.3, -5 24.3,0
1 204 312 *
N 1/ O X = ,/
LA -3l P4 LA
) o T T X
P f A h—4 i &
// ' 0 X _: // A/ -
/,_‘_ i T - 1/ -
e Vel 3
A
25.y=dv +8 6.y =-~2r—6 27.y=3x

. _2
19.0; -6 20. - %;3 28.y=-3v-7 My=—6+130.y=2x-1
1 1Y _ 1. i — g,
Ho = WK 31.y——-5—.1—3 32,y=09x+4 33,y = —8Bx + 11
B ] ) 4 7
:‘1— AN 3.y = o B.y=—-1lx + 13 36.y = —5% = 6
7 o Fy=x+338y=330y=3r-1
3 J
5 U Y 21X 40.y = —-2x + 3 4.y =35x — 4
N 2.y = x - 4 43a.y = 2000c + 4000
F
43b, 7
1. L 16000
21. - 136 22.-3;6 14000
7 Y17 12000
- 10000
A , 8000
5‘ \ T\ 6000
5 \\ 10 x 4000
: =2 3 4 2000
Ol [ N 1= . AN X
=l AN 5 - 0 1 2 3 a4
1
i 43c. $12,000
23.-L -2 -
T Practice 6-3
. }, 1- , y 2- ry
o) =3
IH—— 2
1 D X :f' X
—3—F—F— } 1] i T O X Py ]
| L —p—1 T
q ----"'I- : T%
T Z
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Chapter 6 Answers (continued)

3, 5] . .
] ,I f
- s
T O X / Z
== o=
T — .
2 )t 1 t
5- S y 6- ? }f
-, <4 { \
1\
e P
AN A
Ho x - \
Y 4 1 \
T 1 O x
A 7\ 4
X
7 7 8. 17
5 > B
L O q
- X _)_“—- 1 l : s
~72.10[.] 3 A
- 2 3
] =+
9 T 10 5
3
- X /,1
— (8] y Tol Tx
15 —4‘-‘., il S
A 3.
/ 2
1. 12.
NEL lol2,
2\ 3[/
: A
T = z
—j~t—] JON2 3 A
TN [0
f \ - i
J X AN
13. 7 14, Ty
o
=] +—pr
2\ P
- X el
~3—=2~1 {1ON 2 3 - S IelE
T SEEEDD
2 1

) - O X
=
2 =21y /
i 8] X E /
—_R P 5 -
} +
a s /
Z p 4
-1/
&
7T 18. 5
T 0 ]
; Lot 5 X e
o 1/ O -.-""h X
2 LA = T
T
e 2
5 ns
19. m 20. 3"
X X
4] |- (o] 1 -4 |0 4
2 ==
Y

2. —4x + y = =11 22, -2 + y = —§

.2k +y= -3 24 5y +y= -3

25.—2x + 3y = =25 26.4x - y = 43

27.4x + 5y =6 2B.x + Sy =0 29. -5x + 2y = —44
30 —7x + 3y =125 3T x + 3y =2 32,6 + y = —38
33a.5x + 10y = 200

33h. ¥

3.1 3101520253035

33c. Answers may vary. Sample: (6 5-1b bags, 17 10-1b bags), or
(12 5-Ib bags, 14 10-Ib bags)

34a.5x + 3y = 450
34b,

J!

(5%

-
D pdp

=)

153045 6075

LA
[=3]
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Chapter 6 Answers (continued)

34c. Answers may vary. Sample: {73 adult, 25 student}),
(60 adult, 50 student)

35a.5x + 7y = 70

35b. [ I
N
- S
18]
. A
EA O v X
-2 i 2 4 5 1012

36.599x + 499 = 30

Practice 6-4
Naote: One possible form of the answer is given,
1.y -8=x—-6 Ly —-3=~-1x+2)

.y —8=3x-3) 4y—3=4x+2)
5y-7=2(x—4) 6y+2=-3(x-6
Ty—2=x+3 8y—16=—3(x—6)

9.y +2=12(x+4) 10.y-10=30x - 13)
My +7= —d 2.y -6=2x-1) Bx=1
M.y —7=—3(x+6) 15.y - 2= 2(x - 27)
6.y =5 7.y - 1= 5(x ~ 14)

18.y - 12 = —2(x - 2) 19.y — 9 = 3(x + 10)
20.y—2=%(x—6) .y + 3= -2« - 5)
22.y - 35=05(x —4) 2.y —2=3(x + 6)
24,y — 120 = —3(x — 80) 25.y + 6 = ~2(x — 3)
26y —3=2x—9) 2.y —7=3(x—2)

8.y - 8=—3(x+9) 20.yesy-3=4(x—2)
30.n0 31.no 32.yes;y — 5 = —2(x + 2)

il

B.yes;y + 5= 3(x + 6)

3. yes; y — 11 = —%(.:: + 6)

35.n0 36.yes;y — 1= %—(x + 4)
My-1=%x-1) By-2=-3(x-1)
39.y-1=2@x-1)

Practice 6-5

2 5 1 e 941
1422 3-9 4.-1 53607182 9.3
10.—?— 1. undefined 12 -2 13.y = L+ 6

Answers

14.y=%x+6 15.y= —6x — 10 16,);:4_\;—3

3
17.y= —kx =3 1By =30 -3
19.5=2x+2 20.y= 3¢ 2Ly = -2 - |
2.y=2x—2 23 y=-4x+7 28 y=x-35
25.y=%.r~6 26,y = —%x—IO
27.y=—%x+14 28.y = —%x—tl
29.y = 5¢ + 20 30.y = x + 1 31. paralel
32. perpendicular 33. neither 34. neither 35, parallel
36. perpendicular

Practice 6-6

1. Answers may vary. Sample: y = 30x + 25
2. not linear

3. Answers may vary, Sample: y = 15x + 120
4.y = =260 + 9.6; ~-0.8535; yes

5.y = —3x + 12; —0.604%no

6.y = 04223x + 3.9990; 0.7649; yes

7.y = —02x + 348; ~0.0721; n0

B. Answers may vary. Sample: y = 3x + 15

zp Y lL
ng
20 u'%
15 @
10
5
0 X
BEREE;

9. Answers may vary. Sample: y = —0.0857x + 17.3

17.2
17.0 .y

16.8 > .

16.6 <

16.4 ® s

16.2 ® -

L]
16.0
1985 1990 1995 2000

10. Answers may vary. Sample:y = 3x + 15

oL 1L ¢
< ¢
Ty [ ]
20 +
15
16
g
123 45 6
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Chapter 6 Answers (continued)

11. Answers may vary. Samplery = —0.ly + 13

7.0 o[ ®
6.5
6.0

5.5 L
5.0 []
4.5

0
?\f 1988 1992 1996
Practice 6-7

1. v 2, 7
2 4
[} X =
o X
4 o L
3 v 4 iyl T X
3 NG,
N N A
X A X
-2 — 0
Z Fa
5 LN 4 6 %
hd ]
X ]
-7 |O ; -
. X
L — 15 ‘
7 7 8. [Ty
X ) X
7 |O ] fo) ] 3 |
2 a
9 7 10. 7
2 2
\/
X X
-2 ]o 2 =10 | ;
Z Z

11. 7 12, %
X b ]
o ‘ 2
. X
“ [0} F 4 :
13. v 14, \y
2 2
X X
3”10 A 0
2 2
15. Ty 16. v
x A.
— & O 4 "
= 2
T2 O ] 4 |x
)
7. T 18, 7
4 PN
1, \\
2 /f 5 \\
4 AN
X - X
o | 2] -3 |0] | i
19. 7 20, [y
X
- 0 & L4 4 O L:
Y
21. 7
X
= [0}
2
4

2.y=Jx+7 23y =|x — 5|

A y=|x|+6 25y=|x-3]+2
20,y=|x+1]-3 2.y =jx -2 -1
2. y=Jr+2{+4 29 y=|x~3]+2
30 y=|xr+4 —-35 3.y = ~|x|] +3
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Chapter 6 Answers (continued)
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32.y = —|x +35] 33y =—|xf -3 Vy=-21Ly—d=x-8 2y—1=3x+4
34,y = —|x| -3 3By=—|x—1] +2 2, 7 a1
36.y = —[x+1] =5 3%.y = —|x — 3] +2 By+6=3(x=6 My=gx WBy+2=3x
38 y=—|r+2] -4 39y=—|x -3 +4 16.y~«7:%(x—2) 7.y + 10 = 2(x + 1)
40.y = [3x| Aly = —|2x| 42y = —|x — 2| 2
4.y = —fx| +2 1.y —7=—x 19.y - 1= —-2x
Reteaching 6-1 Reteaching 6-5

1 1.y=5x—1;y=—%_t—1
1.1 2.5 3. —4 4.0 5. undefined

2.y=—'3x+4;y=%x+4

Reteaching 6-2
1. Check students’ work. 2. Check students’® work.
By=3x+14y=-k+3 5 y=x-1

3.y=?_xm3;y=—%x—3

4.y=—%x+2;y=4x+2

Reteaching 6-3 5.y = %x Ly =-2x-1
1. RUERE 2. N7 .
\\‘“ 3 \ 6.y=——j-x+2;y=2x+2
7 \ 7.y = =1
G 2 ==+ Zy=gx+ 2
3 \\ 1 ‘\ 3
x ol |] Ol |\ 2, _gy= 3,
558 | B 6 ¥ -1 | 1} B.y=3x-Zy=-9x-1
J R
9.y=3x+6;y=—%x+6
3 17 y 4. 17 )
0 a 1 4 Reteaching 6-6
=L i P B/ ] O X
. / e NEVE 1. Answers may vary. Sample: y = —0.075x + 21
= 7 i _:7 ) 2. Answers may vary. Sample: y = 4x + 20
1 7 1y 3. Answers may vary. Sample: y = 0.12x - 1.2
117 )
61/ A Reteaching 6-7
7 1. up 12 units 2. down 15 units
3. left 13 units 4. right 15 units
3 -1 6 N7 > 4 ® ¥
F2 5 5
9 4 -
rd e {
N 2 0 X T =N\]o ] >
M| X N - : — !
h—p.| 3 & ¢ o X 1 )
- —3—2H [ D N3
¥
. 7 [ 8
Reteaching 6-4 Y Y
Note: One possible form of the answer is given. 2 =
1 b X
Ly-3=5(x-4) 2.y —2=4{x-3) 1o 'R =1 o )
Jy—-2=-2x+4) 4y=3535y+53=x-12 3 5
6.y —3=5x—4) .y +1=-3(x-2)

By—4=2x+3) 9.y+1=-Hx-4
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